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QUESTION 1

A company\\'s computer policy dictates that all users workstations must use the company\\'s corporate web page as
their default home page. Which of the following methods should an administrator use to BEST comply with this policy?

A. Configure a logon script to set the homepage at logon.

B. Set the default homepage to the corporate website in Group Policy.

C. Manually configure the homepage on all workstations and setup trace logs to ensure compliance.
D. Set the default homepage to the corporate website on the base computer image.

Correct Answer: B

QUESTION 2

A server administrator needs to configure a server to store usernames and passwords for accounts used to log on to the
network. Which of the following server roles should the administrator configure?

A. Print server

B. Application server
C. Messaging server
D. Directory server
E. Database server

Correct Answer: D

QUESTION 3

Which of the following commands displays the network path between two devices?
A. ping

B. tracert

C. netstat

D. route

Correct Answer: B

QUESTION 4
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A technician installed a new 2GB hard drive on a server, but it only shows 1.86GB of unformatted space. Which of the
following is a reason for the difference?

A. Manufacturers use base 10 instead of base 2 in advertising disk space.

B. A swap file is added to the drive automatically, reducing available disk space.
C. The disk controller maps out a section of hard drive space for diagnostics.

D. Disk drivers consume space of the hard drive.

Correct Answer: A

QUESTION 5

A system administrator is tasked to enable authentication on a web server\\'s login page. One of the requirements for
the web server is to encrypt authenticated sessions over HTTP protocol for all static HTML pages. Using the information
supplied, which of the following default port numbers should be used to satisfy these requirements?

A.53

B. 8080

C. 143

D. 443

Correct Answer: D
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